

DOI: <https://doi.org/10.24297/jam.v21i.9258>**New Class of Holomorphic Univalent Functions Defined by Linear Operator**Ali Mohammed Ramadhan¹ and Najah Ali Jiben Al-Ziadi²¹ Department of Mathematics, College of Education, University of Al-Qadisiyah, Diwaniya-Iraq² Department of Mathematics, College of Education, University of Al-Qadisiyah, Diwaniya-Iraq¹edu-math.post15@qu.edu.iq ²najah.ali@qu.edu.iq**Abstract:**

In the present work, we submit and study a new class $\mathcal{AN}(\lambda, \tau, n, \rho)$ containing holomorphic univalent functions defined by linear operator in the open unit disk $\Delta = \{s \in \mathbb{C} : |s| < 1\}$. We get some geometric properties, such as, coefficient inequality, growth and distortion bounds, convolution properties, convex set, neighborhood property, radii of starlikeness and convexity, weighted mean and arithmetic mean for functions belonging to the class $\mathcal{AN}(\lambda, \tau, n, \rho)$.

Keywords: Holomorphic function, Univalent function, Coefficient inequality, Distortion bound, Convex set, convolution property and radii of starlikeness and convexity.

2010 AMS Mathematics Subject Classification: 30C45, 30C50.

1. Introduction

Let \mathcal{A} be symbolize the function class of the form:

$$k(s) = s + \sum_{n=2}^{\infty} d_n s^n, \quad (1)$$

which are holomorphic and univalent in the open unit disk $\Delta = \{s \in \mathbb{C} : |s| < 1\}$.

Let \mathcal{N} be symbolize the function subclass of \mathcal{A} containing of functions of the form:

$$k(s) = s - \sum_{n=2}^{\infty} d_n s^n, \quad (d_n \geq 0). \quad (2)$$

For function $k(s) \in \mathcal{N}$, given by (2), and $h(s) \in \mathcal{N}$ given by

$$h(s) = s - \sum_{n=2}^{\infty} c_n s^n \quad (s \in \Delta; c_n \geq 0), \quad (3)$$

the convolution (or Hadamard product) of $k(s)$ and $h(s)$ is defined by

$$(k * h)(s) = s - \sum_{n=2}^{\infty} d_n c_n s^n = (h * k)(s). \quad (4)$$

A function $k(s) \in \mathcal{A}$ is called univalent starlike of order γ ($0 \leq \gamma < 1$), if $k(s)$ satisfies the condition:

$$\operatorname{Re} \left(\frac{sk'(s)}{k(s)} \right) > \gamma \quad (s \in \Delta). \quad (5)$$

Also, a function $k(s) \in \mathcal{A}$ is called univalent convex of order γ ($0 \leq \gamma < 1$), if $k(s)$ satisfies the condition:

$$\operatorname{Re} \left(1 + \frac{sk''(s)}{k'(s)} \right) > \gamma \quad (s \in \Delta). \quad (6)$$

Symbolized by $S^*(\gamma)$ and $C^*(\gamma)$ the classes of univalent starlike and univalent convex functions of order γ , respectively.

The following infinite series is named after Émile Leonard Mathieu (1835–1890) who investigated it in his 1890 monograph [7] on elasticity of solid bodies:

$$\mathcal{S}(\rho) = \sum_{n=1}^{\infty} \frac{2n}{(n^2 + \rho^2)^2}, \quad (\rho > 0).$$

The series $\mathcal{S}(\rho)$ has a closed integral form provided by (see[3])

$$\mathcal{S}(\rho) = \frac{1}{\rho} \int_0^{\infty} \frac{t \sin(\rho t)}{e^t - 1} dt.$$

The Mathieu-type power series is described as follows (see[10])

$$\mathcal{S}(\rho; s) = \sum_{n=1}^{\infty} \frac{2n}{(n^2 + \rho^2)^2} s^n, \quad (\rho > 0, |s| < 1).$$

This series was defined specifically for functions of real variables, however it was redefined for complex variables by Bansal and Sokól [2]. Since $\mathcal{S}(\rho; s) \notin \mathcal{A}$ so using following normalization, we have

$$\begin{aligned} \mathcal{S}(\rho; s) &= \frac{(\rho^2 + 1)^2}{2} \sum_{n=1}^{\infty} \frac{2n}{(n^2 + \rho^2)^2} s^n, \\ &= s + \sum_{n=2}^{\infty} \frac{n(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} s^n, \end{aligned} \quad (7)$$

By using the Hadamard product in conjunction with (1) and (7), Liu et al. [6] introduced a new linear operator $Q(n, \rho): \mathcal{A} \rightarrow \mathcal{A}$ as follows

$$Q(n, \rho)k(s) = k(s) * \mathcal{S}(\rho; s) = s + \sum_{n=2}^{\infty} \frac{n(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} d_n s^n. \quad (8)$$

Now, by using the linear operator $Q(n, \rho)$, we define the following:

Definition 1 A function $k(s) \in \mathcal{N}$ is said to be in the class $\mathcal{AN}(\lambda, \tau, n, \rho)$ if it satisfies the following condition:

$$\left| \frac{\lambda s^2 (Q(n, \rho)k(s))''' + s(Q(n, \rho)k(s))''}{\lambda s(Q(n, \rho)k(s))'' + (1 + \lambda)(1 - \tau)(Q(n, \rho)k(s))'} \right| < 1,$$

where $0 \leq \lambda < 1, 0 \leq \tau < 1, \rho > 0, n \in \mathbb{N}$ and $s \in \Delta$.

Some of the following properties studied for other classes in [5,1,11,8].

2. Coefficient Inequality

The following theorem gives a necessary and sufficient condition for a function $k(s)$ to be in class $\mathcal{AN}(\lambda, \tau, n, \rho)$.

Theorem 1 A function $k(s) \in \mathcal{N}$ is in the class $\mathcal{AN}(\lambda, \tau, n, \rho)$ if and only if

$$\sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} d_n \leq (1 + \lambda)(1 - \tau), \quad (9)$$

where $0 \leq \lambda < 1, 0 \leq \tau < 1, \rho > 0, n \in \mathbb{N}$ and $s \in \Delta$.

The result is sharp for the function $k(s)$ given by

$$k(s) = s - \frac{(1 + \lambda)(1 - \tau)(n^2 + \rho^2)^2}{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2} s^n, \quad (n \geq 2). \quad (10)$$

Proof. Assume that inequality (9) holds true and $|s| = 1$. Then we have

$$\begin{aligned} & |\lambda s^2(Q(n, \rho)k(s))''' + s(Q(n, \rho)k(s))'' - |\lambda s(Q(n, \rho)k(s))'' + (1 + \lambda)(1 - \tau)(Q(n, \rho)k(s))'| \\ &= \left| \sum_{n=2}^{\infty} n^2(n-1)(1 + \lambda n - 2\lambda) \frac{(\rho^2+1)^2}{(n^2+\rho^2)^2} d_n s^{n-1} \right| - \left| (1 + \lambda)(1 - \tau) - \sum_{n=2}^{\infty} n^2(\lambda(n - \tau) + 1 - \tau) \frac{(\rho^2+1)^2}{(n^2+\rho^2)^2} d_n s^{n-1} \right| \\ &\leq \sum_{n=2}^{\infty} n^2(n-1)(1 + \lambda n - 2\lambda) \frac{(\rho^2+1)^2}{(n^2+\rho^2)^2} d_n |s|^{n-1} - (1 + \lambda)(1 - \tau) + \sum_{n=2}^{\infty} n^2(\lambda(n - \tau) + 1 - \tau) \frac{(\rho^2+1)^2}{(n^2+\rho^2)^2} d_n |s|^{n-1} \\ &= \sum_{n=2}^{\infty} n^2[\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2+1)^2}{(n^2+\rho^2)^2} d_n |s|^{n-1} - (1 + \lambda)(1 - \tau) \leq 0, \end{aligned}$$

by hypothesis. Hence by maximum modulus principle, we get $k(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$.

Conversely, let $k(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$. Then

$$\begin{aligned} & \left| \frac{\lambda s^2(Q(n, \rho)k(s))''' + s(Q(n, \rho)k(s))''}{\lambda s(Q(n, \rho)k(s))'' + (1 + \lambda)(1 - \tau)(Q(n, \rho)k(s))'} \right| \\ &= \left| \frac{\sum_{n=2}^{\infty} n^2(n-1)(1 + \lambda n - 2\lambda) \frac{(\rho^2+1)^2}{(n^2+\rho^2)^2} d_n s^{n-1}}{(1 + \lambda)(1 - \tau) - \sum_{n=2}^{\infty} n^2(\lambda(n - \tau) + 1 - \tau) \frac{(\rho^2+1)^2}{(n^2+\rho^2)^2} d_n s^{n-1}} \right| < 1. \end{aligned}$$

Since $R(s) \leq |s|$ for all $s (s \in \Delta)$, then we obtain

$$Re \left(\frac{\sum_{n=2}^{\infty} n^2(n-1)(1 + \lambda n - 2\lambda) \frac{(\rho^2+1)^2}{(n^2+\rho^2)^2} d_n s^{n-1}}{(1 + \lambda)(1 - \tau) - \sum_{n=2}^{\infty} n^2(\lambda(n - \tau) + 1 - \tau) \frac{(\rho^2+1)^2}{(n^2+\rho^2)^2} d_n s^{n-1}} \right) < 1. \tag{11}$$

Now, choosing the values of s on the real axis and allowing $s \rightarrow 1$ from the left through real values, the inequality (11) immediately yields the desired condition in (9). Finally, it is observed that the result is sharp for the function is given by (10).

Corollary 1 If $k(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$, then

$$d_n \leq \frac{(1 + \lambda)(1 - \tau)(n^2 + \rho^2)^2}{n^2[\lambda(n^2 - 2n + 2 - \tau) + n - \tau](\rho^2 + 1)^2}, \quad (n \geq 2). \tag{12}$$

3. Growth and Distortion Bounds

Next, we prove the growth and distortion bounds for the linear operator $Q(n, \rho)$.

Theorem 2 If $k(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$, then

$$r - \frac{(1 - \tau)}{2(2 - \tau)} r^2 \leq |Q(n, \rho)k(s)| \leq r + \frac{(1 - \tau)}{2(2 - \tau)} r^2, \quad (0 < |s| = r < 1). \tag{13}$$

The result is sharp for the function $k(s)$ is given by

$$k(s) = s - \frac{(1 - \tau)(4 + \rho^2)^2}{4(2 - \tau)(\rho^2 + 1)^2} s^2. \tag{14}$$

Proof. Let $k(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$. Then by Theorem 1

$$\begin{aligned} 4(2 - \tau)(1 + \lambda) \frac{(\rho^2 + 1)^2}{(4 + \rho^2)^2} \sum_{n=2}^{\infty} d_n &\leq \sum_{n=2}^{\infty} n^2[\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} d_n \leq (1 + \lambda)(1 - \tau) \\ \sum_{n=2}^{\infty} d_n &\leq \frac{(1 - \tau)(4 + \rho^2)^2}{4(2 - \tau)(\rho^2 + 1)^2}. \end{aligned} \tag{15}$$

Hence,

$$|Q(n, \rho)k(s)| \leq |s| + \sum_{n=2}^{\infty} \frac{n(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} d_n |s|^n \leq r + \frac{2(\rho^2 + 1)^2}{(4 + \rho^2)^2} r^2 \sum_{n=2}^{\infty} d_n \leq r + \frac{(1 - \tau)}{2(2 - \tau)} r^2. \tag{16}$$

Similarly

$$|Q(n, \rho)k(s)| \geq |s| - \sum_{n=2}^{\infty} \frac{n(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} d_n |s|^n \geq r - \frac{2(\rho^2 + 1)^2}{(4 + \rho^2)^2} r^2 \sum_{n=2}^{\infty} d_n \geq r - \frac{(1 - \tau)}{2(2 - \tau)} r^2. \tag{17}$$

From (16) and (17), we get (13). Thus, the proof is complete.

Theorem 3 If $k(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$, then

$$1 - \frac{(1 - \tau)}{(2 - \tau)} r \leq |(Q(n, \rho)k(s))'| \leq 1 + \frac{(1 - \tau)}{(2 - \tau)} r, \quad (0 < |s| = r < 1). \tag{18}$$

The result is sharp for the function $k(s)$ is given by (14).

Proof. Let $k(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$. Then by Theorem 1

$$2(2 - \tau)(1 + \lambda) \frac{(\rho^2 + 1)^2}{(4 + \rho^2)^2} \sum_{n=2}^{\infty} n d_n \leq \sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} d_n \leq (1 + \lambda)(1 - \tau) \sum_{n=2}^{\infty} n d_n \leq \frac{(1 - \tau)(4 + \rho^2)^2}{2(2 - \tau)(\rho^2 + 1)^2}. \tag{19}$$

Thus

$$|(Q(n, \rho)k(s))'| \leq 1 + \sum_{n=2}^{\infty} \frac{n(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} n d_n |s|^{n-1} \leq 1 + \frac{2(\rho^2 + 1)^2}{(4 + \rho^2)^2} r \sum_{n=2}^{\infty} n d_n \leq 1 + \frac{(1 - \tau)}{(2 - \tau)} r. \tag{20}$$

Similarly

$$|(Q(n, \rho)k(s))'| \geq 1 - \sum_{n=2}^{\infty} \frac{n(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} n d_n |s|^{n-1} \geq 1 - \frac{2(\rho^2 + 1)^2}{(4 + \rho^2)^2} r \sum_{n=2}^{\infty} n d_n \geq 1 - \frac{(1 - \tau)}{(2 - \tau)} r. \tag{21}$$

From (20) and (21), we get (18). Thus, the proof is complete.

4. Convolution Properties

Theorem 4 Let the function k_j ($j = 1, 2$) defined by

$$k_j(s) = s - \sum_{n=2}^{\infty} d_{n,j} s^n, \quad (d_{n,j} \geq 0, \quad j = 1, 2), \tag{22}$$

be in the class $\mathcal{AN}(\lambda, \tau, n, \rho)$. Then $k_1 * k_2 \in \mathcal{AN}(\mu, \tau, n, \rho)$, where

$$\mu \leq \frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau]^2 (\rho^2 + 1)^2 - (n - \tau)(1 - \tau)(1 + \lambda)^2 (n^2 + \rho^2)^2}{(n^2 - 2n + 2 - \tau)(1 - \tau)(1 + \lambda)^2 (n^2 + \rho^2)^2 - n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau]^2 (\rho^2 + 1)^2}.$$

Proof. We must find the largest μ such that

$$\sum_{n=2}^{\infty} \frac{n^2 [\mu(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \mu)(n^2 + \rho^2)^2} d_{n,1} d_{n,2} \leq 1.$$

Since $k_j \in \mathcal{AN}(\lambda, \tau, n, \rho)$, ($j = 1, 2$), then

$$\sum_{n=2}^{\infty} \frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \lambda)(n^2 + \rho^2)^2} d_{n,j} \leq 1, \quad (j = 1, 2). \tag{23}$$

By Cauchy – Schwarz inequality, we get

$$\sum_{n=2}^{\infty} \frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \lambda)(n^2 + \rho^2)^2} \sqrt{d_{n,1}d_{n,2}} \leq 1. \tag{24}$$

We want only to show that

$$\frac{n^2 [\mu(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \mu)(n^2 + \rho^2)^2} d_{n,1}d_{n,2} \leq \frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \lambda)(n^2 + \rho^2)^2} \sqrt{d_{n,1}d_{n,2}}.$$

This equivalently to

$$\sqrt{d_{n,1}d_{n,2}} \leq \frac{(1 + \mu) [\lambda(n^2 - 2n + 2 - \tau) + n - \tau]}{(1 + \lambda) [\mu(n^2 - 2n + 2 - \tau) + n - \tau]}. \tag{25}$$

From (24), we get

$$\sqrt{d_{n,1}d_{n,2}} \leq \frac{(1 - \tau)(1 + \lambda)(n^2 + \rho^2)^2}{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}.$$

Thus, it is sufficient to show that

$$\frac{(1 - \tau)(1 + \lambda)(n^2 + \rho^2)^2}{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2} \leq \frac{(1 + \mu) [\lambda(n^2 - 2n + 2 - \tau) + n - \tau]}{(1 + \lambda) [\mu(n^2 - 2n + 2 - \tau) + n - \tau]}$$

which implies to

$$\mu \leq \frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau]^2 (\rho^2 + 1)^2 - (n - \tau)(1 - \tau)(1 + \lambda)^2 (n^2 + \rho^2)^2}{(n^2 - 2n + 2 - \tau)(1 - \tau)(1 + \lambda)^2 (n^2 + \rho^2)^2 - n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau]^2 (\rho^2 + 1)^2}.$$

Theorem 5 Let the function k_j ($j = 1, 2$) defined by (22) be in the class $\mathcal{AN}(\lambda, \tau, n, \rho)$.

Then the function k defined by

$$k(s) = s - \sum_{n=2}^{\infty} (d_{n,1}^2 + d_{n,2}^2) s^n, \tag{26}$$

belong to the class $\mathcal{AN}(\epsilon, \tau, n, \rho)$, where

$$\epsilon \leq \frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau]^2 (\rho^2 + 1)^2 - 2(n - \tau)(1 - \tau)(1 + \lambda)^2 (n^2 + \rho^2)^2}{2(n^2 - 2n + 2 - \tau)(1 - \tau)(1 + \lambda)^2 (n^2 + \rho^2)^2 - n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau]^2 (\rho^2 + 1)^2}.$$

Proof. We must find the largest ϵ such that

$$\sum_{n=2}^{\infty} \frac{n^2 [\epsilon(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \epsilon)(n^2 + \rho^2)^2} (d_{n,1}^2 + d_{n,2}^2) \leq 1.$$

Since $k_j \in \mathcal{AN}(\lambda, \tau, n, \rho)$, ($j = 1, 2$), we get

$$\begin{aligned} & \sum_{n=2}^{\infty} \left(\frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \lambda)(n^2 + \rho^2)^2} \right)^2 d_{n,1}^2 \\ & \leq \sum_{n=2}^{\infty} \left(\frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \lambda)(n^2 + \rho^2)^2} d_{n,1} \right)^2 \leq 1 \end{aligned} \tag{27}$$

and

$$\begin{aligned} & \sum_{n=2}^{\infty} \left(\frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \lambda)(n^2 + \rho^2)^2} \right)^2 d_{n,2}^2 \\ & \leq \sum_{n=2}^{\infty} \left(\frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \lambda)(n^2 + \rho^2)^2} d_{n,2} \right)^2 \leq 1. \end{aligned} \tag{28}$$

Combining the inequalities (27) and (28), gives

$$\sum_{n=2}^{\infty} \frac{1}{2} \left(\frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \lambda)(n^2 + \rho^2)^2} \right)^2 (d_{n,1}^2 + d_{n,2}^2) \leq 1. \quad (29)$$

But, $k \in \mathcal{AN}(\epsilon, \tau, n, \rho)$ if and only if

$$\sum_{n=2}^{\infty} \frac{n^2 [\epsilon(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \epsilon)(n^2 + \rho^2)^2} (d_{n,1}^2 + d_{n,2}^2) \leq 1. \quad (30)$$

The inequality (30) will be satisfied if

$$\frac{n^2 [\epsilon(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 - \tau)(1 + \epsilon)(n^2 + \rho^2)^2} \leq \frac{n^4 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau]^2 (\rho^2 + 1)^4}{2(1 - \tau)^2 (1 + \lambda)^2 (n^2 + \rho^2)^4}.$$

So that

$$\epsilon \leq \frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau]^2 (\rho^2 + 1)^2 - 2(n - \tau)(1 - \tau)(1 + \lambda)^2 (n^2 + \rho^2)^2}{2(n^2 - 2n + 2 - \tau)(1 - \tau)(1 + \lambda)^2 (n^2 + \rho^2)^2 - n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau]^2 (\rho^2 + 1)^2}.$$

5. Convex Set

Theorem 6 The class $\mathcal{AN}(\lambda, \tau, n, \rho)$ is convex set.

Proof. Let functions k and h be in the class $\mathcal{AN}(\lambda, \tau, n, \rho)$. Then for every $0 \leq m \leq 1$, we must show that

$$(1 - m)k(s) + m h(s) \in \mathcal{AN}(\lambda, \tau, n, \rho). \quad (31)$$

We have

$$(1 - m)k(s) + mh(s) = s - \sum_{n=2}^{\infty} [(1 - m)d_n + mc_n]s^n.$$

So, by Theorem 1, we get

$$\begin{aligned} & \sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} [(1 - m)d_n + mc_n] \\ &= (1 - m) \sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} d_n + m \sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} c_n \\ &\leq (1 - m)(1 + \lambda)(1 - \tau) + m(1 + \lambda)(1 - \tau) = (1 + \lambda)(1 - \tau). \end{aligned}$$

6. Neighborhood Property

Following the earlier investigations of Goodman [4] and Ruscheweyh [9], we define the σ - neighborhood of function $k(s) \in \mathcal{N}$ by

$$N_{\sigma}(k) = \left\{ h \in \mathcal{N} : h(s) = s - \sum_{n=2}^{\infty} c_n s^n \text{ and } \sum_{n=2}^{\infty} n |d_n - c_n| \leq \sigma \right\} \quad (32)$$

In particular, for the identity function $e(s) = s$, we immediately have

$$N_{\sigma}(e) = \left\{ h \in \mathcal{N} : h(s) = s - \sum_{n=2}^{\infty} c_n s^n \text{ and } \sum_{n=2}^{\infty} n |c_n| \leq \sigma \right\} \quad (33)$$

Definition 2 A function $k(s) \in \mathcal{N}$ is said to be in the class $\mathcal{AN}_y(\lambda, \tau, n, \rho)$ if there exists a function $h \in \mathcal{AN}(\lambda, \tau, n, \rho)$, such that

$$\left| \frac{k(s)}{h(s)} - 1 \right| < 1 - y, \quad (s \in \Delta, 0 \leq y < 1).$$

Theorem 7 If $h(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$ and

$$y = 1 - \frac{2\sigma(2 - \tau)(\rho^2 + 1)^2}{4(2 - \tau)(\rho^2 + 1)^2 - (1 - \tau)(4 + \rho^2)^2}, \tag{34}$$

then $N_\sigma(h) \subset \mathcal{AN}_y(\lambda, \tau, n, \rho)$.

Proof. Let $k(s) \in N_\sigma(h)$. Then we get from (32)

$$\sum_{n=2}^{\infty} n|d_n - c_n| \leq \sigma,$$

which implies the coefficient inequality

$$\sum_{n=2}^{\infty} |d_n - c_n| \leq \frac{\sigma}{2}.$$

Also, since $h(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$, we get from Theorem 1

$$\sum_{n=2}^{\infty} c_n \leq \frac{(1 - \tau)(4 + \rho^2)^2}{4(2 - \tau)(\rho^2 + 1)^2}.$$

So that

$$\left| \frac{k(s)}{h(s)} - 1 \right| \leq \frac{\sum_{n=2}^{\infty} |d_n - c_n|}{1 - \sum_{n=2}^{\infty} c_n} \leq \frac{2\sigma(2 - \tau)(\rho^2 + 1)^2}{4(2 - \tau)(\rho^2 + 1)^2 - (1 - \tau)(4 + \rho^2)^2} = 1 - y.$$

Thus by Definition 2, $k(s) \in \mathcal{AN}_y(\lambda, \tau, n, \rho)$ for y given by (34).

7. Radii of Starlikeness and Convexity

In the next theorems, we will find the radii of starlikeness and convexity for the functions in the class $\mathcal{AN}(\lambda, \tau, n, \rho)$.

Theorem 8 Let $k(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$. Then the function $k(s)$ is univalent starlike of order γ ($0 \leq \gamma < 1$) in the disk $|s| < R_1$, where

$$R_1 = \inf_n \left[\frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (1 - \gamma)(\rho^2 + 1)^2}{(n - \gamma)(1 + \lambda)(1 - \tau)(n^2 + \rho^2)^2} \right]^{\frac{1}{n-1}}, \quad (n \geq 2).$$

The result is sharp for the function $k(s)$ given by (10).

Proof. It is sufficient to prove

$$\left| \frac{sk'(s)}{k(s)} - 1 \right| \leq 1 - \gamma \quad (0 \leq \gamma < 1),$$

for $|s| < R_1$, we get

$$\left| \frac{sk'(s)}{k(s)} - 1 \right| \leq \frac{\sum_{n=2}^{\infty} (n - 1)d_n |s|^{n-1}}{1 - \sum_{n=2}^{\infty} d_n |s|^{n-1}}.$$

Thus

$$\left| \frac{sk'(s)}{k(s)} - 1 \right| \leq 1 - \gamma,$$

if

$$\sum_{n=2}^{\infty} \frac{n - \gamma}{1 - \gamma} d_n |s|^{n-1} \leq 1. \tag{35}$$

Therefore, by using Theorem 1, (35) will be true if

$$\frac{n - \gamma}{1 - \gamma} |s|^{n-1} \leq \frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 + \lambda)(1 - \tau)(n^2 + \rho^2)^2}$$

Hence

$$|s| \leq \left[\frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (1 - \gamma) (\rho^2 + 1)^2}{(n - \gamma)(1 + \lambda)(1 - \tau)(n^2 + \rho^2)^2} \right]^{\frac{1}{n-1}}, \quad (n \geq 2).$$

Setting $|s| = R_1$, we obtain the desired result.

Theorem 9 Let $k(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$. Then the function $k(s)$ is univalent convex of order γ ($0 \leq \gamma < 1$) in the disk $|s| < R_2$, where

$$R_2 = \inf_n \left[\frac{n [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (1 - \gamma) (\rho^2 + 1)^2}{(n - \gamma)(1 + \lambda)(1 - \tau)(n^2 + \rho^2)^2} \right]^{\frac{1}{n-1}}, \quad (n \geq 2).$$

The result is sharp for the function $k(s)$ given by (10).

Proof. It is sufficient to show that

$$\left| \frac{sk''(s)}{k'(s)} \right| \leq 1 - \gamma \quad (0 \leq \gamma < 1),$$

for $|s| < R_2$, we get

$$\left| \frac{sk''(s)}{k'(s)} \right| \leq \frac{\sum_{n=2}^{\infty} n(n-1)d_n |s|^{n-1}}{1 - \sum_{n=2}^{\infty} nd_n |s|^{n-1}}.$$

Thus

$$\left| \frac{sk''(s)}{k'(s)} \right| \leq 1 - \gamma,$$

if

$$\sum_{n=2}^{\infty} \frac{n(n - \gamma)}{1 - \gamma} d_n |s|^{n-1} \leq 1. \tag{36}$$

Therefore, by using Theorem 1, (36) will be true if

$$\frac{n(n - \gamma)}{1 - \gamma} |s|^{n-1} \leq \frac{n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (\rho^2 + 1)^2}{(1 + \lambda)(1 - \tau)(n^2 + \rho^2)^2},$$

and hence

$$|s| \leq \left[\frac{n [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] (1 - \gamma) (\rho^2 + 1)^2}{(n - \gamma)(1 + \lambda)(1 - \tau)(n^2 + \rho^2)^2} \right]^{\frac{1}{n-1}}, \quad (n \geq 2).$$

Setting $|s| = R_2$, we get the desired result.

8. Weighted Mean and Arithmetic Mean.

Definition 3 Let $k(s)$ and $h(s)$ belong to \mathcal{N} . Then the weighted mean $E_q(s)$ of $k(s)$ and $h(s)$ is presented by

$$E_q(s) = \frac{1}{2} [(1 - q)k(s) + (1 + q)h(s)], \quad (0 < q < 1).$$

The following theorem shows the weighted mean for the functions belong to the class $\mathcal{AN}(\lambda, \tau, n, \rho)$.

Theorem 10 Let $k(s)$ and $h(s)$ be in the class $\mathcal{AN}(\lambda, \tau, n, \rho)$. Then the weighted mean of $k(s)$ and $h(s)$ is also in the class $\mathcal{AN}(\lambda, \tau, n, \rho)$.

Proof. By Definition 3, we have

$$E_q(s) = \frac{1}{2} [(1 - q)k(s) + (1 + q)h(s)]$$

$$\begin{aligned}
&= \frac{1}{2} \left[(1-q) \left(s - \sum_{n=2}^{\infty} d_n s^n \right) + (1+q) \left(s - \sum_{n=2}^{\infty} c_n s^n \right) \right] \\
&= s - \sum_{n=2}^{\infty} \frac{1}{2} [(1-q)d_n + (1+q)c_n] s^n.
\end{aligned}$$

Since $k(s)$ and $h(s)$ are in the class $\mathcal{AN}(\lambda, \tau, n, \rho)$, so by Theorem 1 we get

$$\sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} d_n \leq (1 + \lambda)(1 - \tau)$$

and

$$\sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} c_n \leq (1 + \lambda)(1 - \tau).$$

Hence,

$$\begin{aligned}
&\sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \left[\frac{1}{2} (1-q)d_n + \frac{1}{2} (1+q)c_n \right] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} \\
&= \frac{1}{2} (1-q) \sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} d_n \\
&\quad + \frac{1}{2} (1+q) \sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} c_n \\
&\leq \frac{1}{2} (1-q)(1 + \lambda)(1 - \tau) + \frac{1}{2} (1+q)(1 + \lambda)(1 - \tau) = (1 + \lambda)(1 - \tau).
\end{aligned}$$

This shows that $E_q \in \mathcal{AN}(\lambda, \tau, n, \rho)$.

In the following theorem, we shall demonstrate that the class $\mathcal{AN}(\lambda, \tau, n, \rho)$ is closed under arithmetic mean.

Theorem 11 Let $k_1(s), k_2(s), k_3(s), \dots, k_v(s)$ that defined by

$$k_m(s) = s - \sum_{n=2}^{\infty} d_{n,m} s^n, \quad (d_{n,m} \geq 0, m = 1, 2, \dots, v, n \geq 2), \quad (37)$$

are in the class $\mathcal{AN}(\lambda, \tau, n, \rho)$. Then the arithmetic mean of $k_m(s)$ ($m = 1, 2, \dots, v$) that defined by

$$g(s) = \frac{1}{v} \sum_{m=1}^v k_m(s), \quad (38)$$

is also in the class $\mathcal{AN}(\lambda, \tau, n, \rho)$.

Proof. By (37) and (38), we can write

$$g(s) = \frac{1}{v} \sum_{m=1}^v \left(s - \sum_{n=2}^{\infty} d_{n,m} s^n \right) = s - \sum_{n=2}^{\infty} \left(\frac{1}{v} \sum_{m=1}^v d_{n,m} \right) s^n.$$

Since $k_m(s) \in \mathcal{AN}(\lambda, \tau, n, \rho)$ for every $m = 1, 2, \dots, v$, so by Theorem 1, we have

$$\begin{aligned}
&\sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} \left(\frac{1}{v} \sum_{m=1}^v d_{n,m} \right) \\
&= \frac{1}{v} \sum_{m=1}^v \left(\sum_{n=2}^{\infty} n^2 [\lambda(n^2 - 2n + 2 - \tau) + n - \tau] \frac{(\rho^2 + 1)^2}{(n^2 + \rho^2)^2} d_{n,m} \right) \\
&\leq \frac{1}{v} \sum_{m=1}^v (1 + \lambda)(1 - \tau) = (1 + \lambda)(1 - \tau).
\end{aligned}$$

This ends the proof.

References

1. W. G. Atshan and N. A. J. Al-Ziadi, On a new class of meromorphic multivalent functions defined by fractional differ-integral operator, *Journal of Kufa for Mathematics and Computer*, 5(1)(2018), 12-20.
2. D. Bansal and J. Sokól, Geometric properties of Mathieu-type power series inside unit disk, *J. Math. Ineq.* 13(4)(2019), 911–918.
3. O. Emersleben, Über die Reihe $\sum_{k=1}^{\infty} k(k^2 + c^2)^{-2}$, *Math. Ann.* 125(1952), 165–171.
4. A. W. Goodman, Univalent functions and analytic curves, *Proc. Amer. Math. Soc.*, 8(3) (1957), 598–601.
5. K. A. Jassim, Some geometric properties of analytic functions associated with hypergeometric functions, *Iraqi Journal of Science*, 57(1C)(2016),705-712.
6. D. Liu, S. Araci and B. Khan, A subclass of Janowski starlike functions involving Mathieu-type series, *symmetry*, 14(1)(2022), 2.
7. E. L. Mathieu, *Traité de Physique Mathématique. VI-VII: Théorie de l'Elasticité des Corps Solides (Part 2)*, Gauthier-Villars, Paris (1890).
8. A. M. Ramadhan and N. A. J. Al-Ziadi, New Class of Multivalent Functions with Negative Coefficients, *Earthline Journal of Mathematical Sciences*, 10(2)(2022), 271-288.
9. S. Ruscheweyh, Neighborhoods of univalent functions, *Proc. Amer. Math. Soc.*, 81(4) (1981), 521–527.
10. Z. Tomovski, New integral and series representations of the generalized Mathieu series, *Appl. Anal. Discrete Math.* 2(2)(2008), 205–212.
11. A. K. Wanas and H. M. Ahsoni, Some geometric properties for a class of analytic functions defined by beta negative binomial distribution series, *Earthline Journal of Mathematical Sciences*, 9(1)(2022), 105-116.